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ERUND OR INFINITIVE?

1- Choose the correct answer: 2- Correct the mistakes if
a) She can't get used to ...... in Spain necessary.
i) live ii} living
@ a) She stopped to smoke two weeks ago
b) He needs that book
i) read ii) to read
b) Please, remember posting this letter
c) TItisworth ... that film
i)  watching ii} to watch ¢) My grandma advised me seeing a dentist
d) Check your worksheet before ..., it @ Eoma itk ; i
i) toupload i) uploading d) Emma is trying passing her driving test
e) Itisrude ... other pupils' work @ e) They don't allow me smoking in public places

i) tocopy i) copy

) Tonio doesn't mind. .. had f) She has decided getting married
i) towork ii) working
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3- Complete these senfem::zs with the 4- Rephrase these sentences using
f,orret::t form of the verbs in brackets. active or passive voice:
L a) Iwish I hadn't gone by plane.
I regret ..
a) Keep ... (ASK)for help
b) Playi i id i
b) Could you stop ............. (TALK) aloud? ) Iﬂ:ng with.o wides gam i Viecy fuany
c) Mydad toldus ... (GET) home early
c) It's useless to fry to change her mind
d) Wehave ... (INVITE) Ann There's no point in ...
e) Ireally miss ........ (MEET) my friends d) Don't listen to that song again
Stop ..
f) Julia is thinking about ........... (BUY) a car
e) Tom said he found it strange to travel
g) Ian’s looking forward to ......... (HEAR) ) by shs I et B s
from us P_ .
h) T'm not interestedin ... (ATTEND) Tom said he wasn't ...
the lecture
i) s (DRIVE) demands concentration f) It can be dangerous to climb a mountain
Climbing ...
j) She promised me ....... (DO) it




